BEAD GEXEF - BTT )

Sf4%F98 |1 B
b 1 X % H# F O A | 5 7T

B 7 B o X 6,674 13,333 6,949 6,384

X B # K 1,180 2,905 1,429 1,476

£ F # K 577 1,465 743 722

N RO K 990 2,653 1,348 1,305

Bl %&£ # K 6,899 14,879 7,279 7,600

Nn |’ R # X 1,292 3,125 1,520 1,605

ik x M # K 1,050 2,488 1,227 1,26

it & & # K 7,868 18,773 9,016 9,757

BE o M o X 6,306 16,031 8,014 8,017

& 5 32,836 75,652 37,525 38,127
Lf4F9H 1B

Hw K & B T % tH #H B | A 0 5 £°3

BE 7 U X BETEIATA 4,497 9,314 4,681 4,633
¥ P 186 346 195 151

® g 428 84 | 433 408

£ L o H 734 1,311 820 49|

g R H 288 505 271 234

% BT 54| 1,016 549 467

o ORX 3 6,674 13,333 6,949 6,384

N E # X = B 87 212 106 106
X & 8l4 1,993 q77 1,016

=0 1| 143 364 178 186

+ K 18 #r 8 136 336 168 168

A - S 1,180 2,905 1,429 1,476

k P # K ® B H |4 358 182 176
& fF 16 39 17 22

¥ @\ H |25 405 193 212

& & H 96 229 109 120

R HT 130 271 158 113

K & 69 163 84 79

e K 3 577 1,465 743 722

N R O X N R H] |79 419 213 206
BN R H | 44 391 197 194

7 PR HT 31 74 35 39

B R ¥ 459 1,318 68| 637

g B 65 1 80 87 q3

F BT (W 27| 135 136

o K 3 990 2,653 1,348 1,305
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BEAD GBXF - BT T35

Sf4F9H 1 B
¥ K & B/ T 4 #F B | A = 5 5°3
Bl % #h X Bl % H 638 1,532 748 784

F9 & %7 @ B | 2 2 0
AN b HT 163 417 202 215
m v B 715 1,626 789 837
& % 6 938 2,180 1,005 1,175
Bl % ] a8 396 156 240
%= & 1,912 3,935 1,967 1,968
& | TB 224 422 212 210
& 2 T8 429 867 428 439
& 3 T8 466 778 394 384
& 4 T B 720 1,385 714 67|
MW I 30 18 |2
NGB OFE S HT 426 q10 448 462
FE £ 487 %7 0B BT |7 44 18 26
Ny HT 14 355 178 177
o X 6,899 14,879 7,279 7,600
IR K3t B LI S 1 1,292 3,125 1,520 1,605
#H K3 1,292 3,125 1,520 1,605
it >C R X & b H 77 234 121 113
& % ¥ @B H] 63 150 72 78
‘A Bk R HT 109 258 123 135
2 @\ 65 |49 75 74
it # H 73 201 qq 102
BN OB f] 31 87 44 43
® A 64 181 q3 88
X B 6 19 8 I
myeE | TH ql 187 98 89
EmNE2TAH ql 206 q4 112
mrE3TH 107 210 103 107
e 4TH 133 305 | 47 158
maAES5TH 54 120 60 60
a6 TH 86 181 90 ql
H X 1,050 2,488 1,227 1,261
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HFEAD GHEE - BTT 3
F04F9R | H
H B % Bq T 4% #H R A = B -8
LtES®RE | EWw I TH 183 409 197 212
£EWL2TBH 201 46| 211 250
£WL3TBH 179 404 208 196
£ 4 TBH 340 900 393 507
£WL5TAH 271 618 294 324
fFWL6TRH 282 681 345 336
£WL 7 T8 234 580 284 296
£WL 8 TBH 274 62| 307 314
WmEITB 432 926 432 494
WmwWE2TB | 29 338 16| 177
W¥E3ITBHE 229 52| 270 25|
WwWE 4 TB 153 362 176 186
WES5TEBE 245 575 276 299
WwW¥E6TRBH 264 634 295 339
NS T B 28 66 34 32
IN% 2 TH 347 q09 452 457
N3 T B 183 405 208 197
NS4 T B 565 1,223 558 665
&1 TH 201 478 238 240
& 2T7TEH 235 584 285 299
&3 T7TEH 138 327 172 155
& 4T7TH 26| 680 326 354
&5 T7H 187 436 193 243
BARE | TH 188 493 248 245
BRE2TH 21| 577 279 298
vHRE3ITHE 71 186 ql 95
BARE4TH 201 458 218 240
BHRESTH 294 776 356 420
Afk& | TH |59 394 194 200
A& 2TH 168 418 210 208
A& 3TH 343 813 403 410
AfR&4TH 672 1,520 702 818
# X E 7,868 18,773 9,016 9,757
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BEAD GBXF - BT T35

Sf4%F98 |1 B
H B % Bq T 4% #H R A = B -8
Ry MR | @yl TH 167 756 501 255
BT E2TH 163 417 212 205
By aE3TH 188 450 229 221
BT E4THE 277 755 361 394
BT ES5TH 332 823 379 444
By R 6TH 324 q19 469 450
o BE7TH 419 |, 147 588 559
W/ NI TE 289 713 333 380
W/ N2TH 228 574 276 298
W/ N3TH 368 994 485 509
W/ N4TH 288 775 382 393
W/ AN5TE 279 737 367 370
wr e TH 500 1,107 557 550
WrE2TH 446 994 489 505
wrE3TH 357 1,019 514 505
WwWrE4TH 309 534 256 278
B¥ | TB 280 732 368 364
B¥2TBH 435 1,029 518 511
BR3TAH 307 759 379 380
B¥ 4 T8 332 612 297 315
B | TH | 139 32 107
v B 3 TH |7 46 22 24
#H K3 6,306 16,031 8,014 8,017
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